RHM2EEFEIES V8 —Fy FEZSF—TU7—FMRE
MEEIS* ]

17-—2
KEAEBVLCBVERLZER

TRETHLLULVK]

[BEHRY—EXBRE] 21T

Bi17—1T 3. POBEVOLLLEN] FE T4, BOLLBL] EBEADHIIEBRLET.
HIEFAERAKE LT, KEKESVWLLGVEBRLHZBRIATT N, WKDTHEERULESLY,

1. BRIALHAS

2. hURLH S

3. %k (FHEE) nHEND

4. JEPEL. ERB VDS

5. BEDEWLLLBWAX—IHHEH D

6. ZDfts

N=98
SR EEH EEFES
1. BRELA DL 37 R
2. hORLD L 12 12. 2%
3. &k (BEHBE) hbdhb 29 29.6%
4. Kehml. EHELH DL 33 33. 1%
5. BEDBL LBV A —Shh oD b 25 25.5%
6. ZOfh 8 8. 2%
EEEEEES
TR Bt T EXLS
39 59 98
(1. BRE0A D 8] 46. 2% 9] 32. 2% 37] 37. 8%
2. AURLA DL 6] 15.4% 6] 10.2% 2] 12.2%
3. &k (BAEE) DHEND 4]10.3% 25| 42. 4% 29| 29. 6%
4. KEAEL. EHZVHD 15| 38.5% 18] 30. 5% 33 33.7%
5. BEDBLLBVAA—ShHED b 11| 28.2% 14| 23. 7% 25| 25.5%
6. ZDfs 3 T.7% 5] 8.5% 8] 8.2%
m 5 mxt matk

0.0%

10.0%

20.0%

30.0%

40.0%

50.0%
E1E L

60.0% 70.0%

80.0%

90.0%

100.0%




EEHR - L&

20 20 Km | 20@A | 30mfK [ 40mR [ 50mAK [ 60mft [ 70mLlE
0 2 14 25 30 16 11
1. BRELD D 0[0.0% 2Ji00.05]  4]28.6% 9]36.0%]  9]30.0%  8]50.0%]  b5[45. 5%
2. hURWAD 0[0.0%  0[0.0%] 2|14 3% 3[12.0%5]  3[i0.0%]  3[is.8%]  1[9.1%
3. KK (FEHLE) BHdhb 0[0.0%  0[0.0%] 6]42. 9% 11]44. 04|  8l26.7%]  3[1s.8%] 1[9.1%
4. KENEL, EHDHLIMD 0 0. 0% 1]50.0%]  4]28. 6% 9]36. 0%]  11]36. 7% 6[37.5%  2]18.2%
5. BEDEVLLGEVA A =D Hb5D 5 0[{0.0%f  0f0.0%  4f28. 6% 5]20. 0% ofso.ou]  4]25.0%]  3[27.3%
6. TOfh 0[0.0% 0f0.0% of0.0%  1]4.0%] 4[13.3% 0[0.0%  3[27.3%
W20RRTE  m20ARfC  m30REX m4omA mSoARfC me0mft m70mLALE
1 ERLAS | | |
2. HUELAD
3. % (BEHRE) 1BBHL
4. ACRHEL. EBBLHD |
7 ‘
5. BEDBLLLAWS A—SHBDEHD ‘
i \ \
6. Z0ith
] |
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0%  100.0%
Bt
ZDMER
£35S Al | BER
[ 50mRK | X% [CEENERLLSBLVES > CARAEA DL,
50mIk | KIE [KBAKCEoEBLVLVKERAT-C ERBHEN b, BIDET)
@ik | B% [RyFRRILEDER
TORLLE | 1% WD B. 3 oA ALY
T0LE | & [EHICE-TEERESTCRELED
50mIk | KIE |FILA AT B Kz LI KEGNERE D
50mfk | BTk [BRNESDDD Y EEAN, BOAHIBLLL BN, KL I, Bh LI-KTHE, ITtAKDEL,
0FLLE | B [BAEHSETNTT,




